

# अखिल भारतीय आयुर्विज्ञान संस्थान, रायपुर (छत्तीसगढ़) All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road.

Raipur-492 099 (CG)

Date: 17-01-2020

Phone No. 0771-2572930, e-mail: ee.civil@aiimsraipur.edu.in

NIQ No: 41/EE/AIIMS/RPR/2019-20

### NOTICE INVITING QUOTATION

Sealed percentage rate quotation is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from the Civil eligible Contractors of CPWD, MES, BSNL, Chhattisgarh State PWD or any specialized firms having relevant documents and bid should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-1, AIIMS Raipur up to 11:00 AM on date: 23-01-2020. The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned. The quotations will be opened on the same day at 11:30 AM. As per detailed below:

SI	NAME OF WORK	EST. COST in	TIME
No		Rs.	
1	Supply and planting of plants at various location in AIIMS Raipur Under KAYAKALP Scheme.		15 Days

#### **SCHEDULE OF QUANTITY**

Sl No	Description of items	Quantity	Unit	Rate	Amount
1	AS PER ATTACHED SHEET				

#### **Terms & Conditions:**

- 1. The **percentage rates** are to be quoted in words and figures inclusive all taxes octroi, transportation etc. (Nothing to be paid extra on this account).
- 2. Specifications to be followed for execution of work as per CPWD Specifications and direction of the Engineer-In Charge.
- 3. The **first and final bill** payment will be done after completion of work as per specification.
- 4. Certificate of Registration for GST, Contractors' enlistment order/ firm registration certificate should be attached with Quotation and duly seal & sign on each document.
- 5. **Time allowed for supply of plants is 15days**. It will be reckoned from the day award of the supply order.
- 6. LD @ 0.5% of delayed supply per week or part of week for delay of completion of work subject to maximum up to 10% and up to justified time period.

Executive Engineer (C)
AIIMS Raipur (C.G.)

## Copy to:

- 1. The Director, AIIMS Raipur-
- 2. The Deputy Director (Admin), AIIMS Raipur -
- 3. The Financial Adviser, AIIMS Raipur-
- 4. The Accounts Officer-I, Project Cell, AIIMS Raipur-
- for kind information please for kind information please for kind information please for information.
- 5. The Junior Engineer (C)-Er. Amarnath Chandra, AIIMS Raipur. Preparation of Market Rate Justification, Rate analysis and measurement sheet before opening of NIQ.



Schedule of quantity  Name of work - Supply and planting of plants at various location in AIIMS Raipur Under KAYAKALP Scheme.					
Item.No.	Particulars	Quantity	Unit	Rate	Amount
1	Providing and Displaying Petunia hybrid different variety in different colour well developed with fresh and healthy foliage in full bloom in 25 cm Earthen Pot/Plastic Pot as per direction of the officer-in-charge	200	Each	64.60	12920.00
2	Providing and Displaying Poinsettia dwarf multi head, having upto 30 cm ht., with 3 to 4 branches with fully different colored top with fresh & healthy foliage well developed in 20 cm Earthen Pot/Plastic Pot and as per direction of the officer-in-charge.	200	Each	258.30	51660.00
3	Providing and Displaying Budded Rose (H.T. variety) 3 to 4 healthy branch 30 cm and above ht. well developed with one and above flower plant in 20 cm Earthen Pot, as per direction of the officer-incharge.	500	Each	32.80	16400.00
4	Providing and Displaying Bamboo Buddha vally variety with umbrella shape having 120 to 135 ht. with fresh & healthy foliage well developed in 40 cm Cement pot multy branch, bushy as per direction of the officer-in-charge.	40	Each	1025.00	41000.00
5	Providing and Displaying Bougainvillea named variety, Sobhra, Thima, Marry palmar, Cherry Blossom etc. well developed with fresh & healthy bushy in full bloom 75 to 90 cm ht. in 40 cm Cement Pot as per direction of the officer-in-charge.	150	Each	322.90	48435.00
6	Providing and stacking of Chandni dwarf of height 15-20 cm., well branched in earthen pots of size 20 cm as per direction of the officer-in-charge. as per direction of the officer-in-charge.	300	Each	35.00	10500.00
7	Providing and stacking of Nerium oleander (kaner) dwarf of height 30-40 cm. in earthen pot of size 20 cm as per direction of the officer-in-charge	300	Each	40.00	12000.00
8	Providing and stacking of Tecoma gaudichaudi of height 90-105 cm., bushy in big size HDPE bag as per direction of the officer-incharge.	300	Each	110.00	33000.00
9	Providing and stacking of Thuja compacta of height 75-90 cm., conical shaped, well formed with healthy foliage in earthen pots of size 30 cm as per direction of the officer-in-charge.	100	Each	130	13000.00
10	Plantation of Trees, Shrubs, and Hedge at site i/c watering and removal of unserveiceable material's as per direction of officer in charge (excluding cast of plant & water)				
10.1	Shrubs Plant	2150	Each	3.200	6880.00
Percentage Rate Quoted by the Agency		In Figure		Total	245795.00
		In Words			

Name of Agency:		
Address Details:		
Contact no:		
Valid email id:		